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( Part-1 B ETEN )
Write short answers to any FIVE parts.

vl el § -
te et SAlF C LExtmddr  ©
What is the importance of C-shaped cartilagenous rings in the wall of trachea? -
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What is the location of stomata? Write their function.

Write two effects of smoking on circulatory system.

What is meant by metabolic waste?

Write two problems after kidney transplant.

Define nerve impulse.

What are the two functions of meninges?

What is meant by hypermetropia?

Write short answers to any FIVE parts.

What is meant by antagonism?

Differentiate between compact bone and spongy bone.
G L GBI L 7 LS E G i)

Define vegetative propagation. Also write the names of its two methods.

Define alternation of generation. 7= _é'/’p(g’_’;_ﬂ_.}fga,?" {iv)

Differentiate between spermatogenesis and oogenesis. -,.;?:_5&/';_,’: J""‘bj;:wl\_,f"{“?ff,( (v}
g - - £ . o I cwe i
Define the term genotype. Also write the names of its two types. -éﬂ‘fgﬁ*td,f‘wudu’h?: __L_{_gf’u.__’r Esf (i)

-yuﬁ:."{’;/{.é" (vii)
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What is meant by Punnett square?

Differentiate between dominant allele and recessive allele.
Write short answers to any FIVE parts.

Define food chain and give example.

Write the difference between biotic and abiotic.

Write the names of two carnivorous plants.

Write any two uses of fermentation,

Define fermentation. Also write names of its two types.
Name two narcotics obtained from poppy plant.

What are the uses of carbolic acid in surgery?

Write the losses of taking heavy amount of Marijuana.

_J'/-‘ 09 Z vz _éff....ft.'icf....«uln,c_.ui ¢ gd 4aa
Part - IL, Attempt any TWO questions. Each question carries 09 marks.
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What is fermenter? Discuss on batch fermentation and continuous fermentation.

517-X119-46000
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Write the osmoregulatory function of kidney in detail.
Explain coordinators and effectors.

Write a detailed note on arthritis.

Discuss artificial propagation in detail.

Write a detailed note on nitrogen cycle.
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Vas deferens 56":::;:}52;0”" ?:::c'?c": Follicles IQt:;rne cells of ovary prepare structures called: |
e tubules ¥ S gy ; _
4 3 ) [ I | u"d..)’).&hfu }UVJ}GCVCL}UL!‘JA’ 2 i
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Alveoli Cartilage | Trachea Glo Larynx is made up of:
.. ! . SN B I - T
X | L : - fi /’r K_Wn:h{ra'..c._)féh, 8
Mucilage 1,' Resins | ~Latex Gums Waste material that are secreted by rubber plant: i i
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P Q& | ok i! ULV VRN
Nucleus | Neuron i Receptors Nephron ' The unit ot‘nervous > System is: [ 5
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Zygote Gametogeneﬂs organs are called: 2l :
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( Part-1
Write short answers to any FIVE parts.
Define epiglottis. Also write its function.
Differentiate between stomata and air spaces.
What is inspiration and expiration?
What is kidney transplant?

What is hydrophytes? Give an example.

Differentiate between aqueous humour and vitreous humour.

Define coordination.

Differentiate between stimuli and response.
Write short answers to any FIVE parts.
Compare compact bone with spongy bone.

What is meant by arthritis? How it can be treated?
Define suckers and give example.

What is double fertilization? In which plants it occurs?
What is germination? Give its types.

What are varieties or cultivars?

Define incomplete dominance and give example.
Write advantages of artificial selection.

Write short answers to any FIVE parts.

What is meant by biosphere?

Differentiate between primary consumers and secondary consumers.

Define commensalism. Also write an example.
Write two uses of biotechnology in the field of medicine.
Write the names of two vectors used in genetic engineering.

What are addictive drugs?

What is the use of sedatives? Write an example of sedatives.

Differentiate between bactericidal and bacteriostatic antibiotics.
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Part - II, Attempt any TWO questions. Each question carries 09 marks.

How plants remove extra carbon dioxide and water?

Write a note on Paralysis and Epilepsy.
Explain muscles and movement.

Describe development and structure of seed.

er 6l Qi T8 K sy ()
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What are consumers? Explain their different groups. &% > LR /il et e }/,f}‘r ()

Define fermenter. Also explain its ways.
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